# Global Studies of the Solutions of some Difference Equations 

Hamdy El-Metwally ${ }^{1 ; a}$, Tamer El-Azab ${ }^{1 ; b}$ and Amna Eshtiba ${ }^{2 ; c}$<br>${ }^{1}$ Department of Mathematics, Faculty of Science, Mansoura University, Mansoura 35516, Egypt<br>${ }^{2}$ Mathematics Department, Faculty of Education, Tripoli University, Libya

## Abstract

Our aim in this paper is to investigate the boundedness, global attractively, locally asymptotically stability of the positive solution of the difference equations of form

$$
\mathrm{x}_{\mathrm{n}+1}=\alpha \mathrm{x}_{\mathrm{n}-\ell}+\frac{b \mathrm{x}_{\mathrm{n}}^{\mathrm{q}}}{1+\mathrm{x}_{\mathrm{n}-\mathrm{k}}^{p}}, \quad \mathrm{n}=0,1, \ldots
$$

where $\mathrm{a}, \mathrm{b}, \mathrm{p}, \mathrm{q} \in[0, \infty)$ and $\ell, \mathrm{k} \in\{0,1\}$ and the initial conditions $\mathrm{x}_{-1}, \mathrm{x}_{0}$ are arbitrary positive numbers.
Keywords: Boundedness, periodicity, global stability, difference equations.
Mathematics Subject Classification: 39A10
Date of Submission: 01-12-2020
Date of Acceptance: 15-12-2020

## I. Introduction

Recursive Sequence are recognized as description of observed development of a phenomenon, where the dominant part of estimations of a time-evolving variable are discrete. The overall developing consideration paid to the examination of different aspects, behaviors and dynamics of difference equations, for example stability, periodicity and boundedness character, is planned. See for cases [3]-[5] and [7]-[12]. Recursive sequences are also often called difference equations, which are very important in mathematical theory and application. See [10], [15] and [17]. For some more examples:
In [1] Amleh et al obtained important results for the difference equation

$$
\mathrm{x}_{\mathrm{n}+1}=\alpha+\frac{\mathrm{x}_{\mathrm{n}-1}}{\mathrm{x}_{\mathrm{n}}}
$$

In [6] Elabbasy et al. investigated the global stability character, boundedness and the periodicity of solutions of the difference equation

$$
\mathrm{x}_{\mathrm{n}+1}=\frac{\alpha \mathrm{x}_{\mathrm{n}}+\beta \mathrm{x}_{\mathrm{n}-1}+\gamma \mathrm{x}_{\mathrm{n}-2}}{\mathrm{~A} \mathrm{x}_{\mathrm{n}}+B \mathrm{x}_{\mathrm{n}-1}+\mathrm{C} \mathrm{x}_{\mathrm{n}-2}}
$$

Yang et al. [18] investigated the invariant intervals, the global attractivity of equilibrium points and the asymptotic behavior of the solutions of the recursive sequence

$$
x_{n+1}=\frac{a x_{n-1}+b x_{n-2}}{c+d x_{n-1} x_{n-2}}
$$

Aloqeili [2] obtained the form of the solutions of the difference equation

$$
x_{n+1}=\frac{x_{n-1}}{a-x_{n} x_{n-1}}
$$

In [16] Yalcinkaya studied the following nonlinear difference equation

$$
\mathrm{x}_{\mathrm{n}+1}=\alpha+\frac{\mathrm{x}_{\mathrm{n}-\mathrm{m}}}{\mathrm{x}_{\mathrm{n}}^{\mathrm{k}}}
$$

Our point in this paper is to explain the boundedness, the locally, and the global attractively of the positive solutions of the difference equations

$$
\begin{equation*}
\mathrm{x}_{\mathrm{n}+1}=\alpha \mathrm{x}_{\mathrm{n}-1}+\frac{\mathrm{bx}}{1+\mathrm{x}_{\mathrm{n}-\mathrm{k}}^{\mathrm{p}}}, \quad \mathrm{n}=0,1, \ldots \tag{1}
\end{equation*}
$$

where $a, b, p, q \in[0, \infty)$ and $\quad \ell, k \in\{0,1\}$ and the initial conditions $X_{-1}, X_{0}$ are arbitrary positive numbers.
Here we recall some notations and results which will be useful in our investigation.
Let J be an interval real numbers and $\mathcal{G}: \mathrm{J} \times \mathrm{J} \rightarrow \mathrm{J}$ where g is a continuously differentiable function.
Consider the difference equation

$$
\begin{equation*}
x_{n+1}=g\left(x_{n}, x_{n-1}\right) \quad \text { for all } \quad n \geq 0 \tag{2}
\end{equation*}
$$

with $\mathrm{X}_{0}, \mathrm{X}_{-1} \in \mathrm{~J}$.
The equilibrium point of Eq.(2) is any point $\overline{\mathrm{X}}$ that satisfies the condition $\overline{\mathrm{X}}=g(\overline{\mathrm{X}}, \overline{\mathrm{x}})$. That is; the constant sequence $\left\{X_{n}\right\}$ with $X_{n}=\bar{x}$ for all $\mathrm{n} \geq 0$ is a solution of the equation. The linearized equation of Eq.(2) is

$$
\mathrm{z}_{\mathrm{n}+1}=\mathrm{a}_{1} \mathrm{z}_{\mathrm{n}}+\mathrm{a}_{2} \mathrm{z}_{\mathrm{n}-1}
$$

where $\mathrm{a}_{1}=\frac{\partial g\left(\mathrm{x}_{\mathrm{n}}, \mathrm{x}_{\mathrm{n}-1}\right)}{\partial \mathrm{x}_{\mathrm{n}}}$ and $\mathrm{a}_{2}=\frac{\partial g\left(\mathrm{x}_{\mathrm{n}}, \mathrm{x}_{\mathrm{n}-1}\right)}{\partial \mathrm{x}_{\mathrm{n}-1}}$.
Theorem A [14]: A (Linearized Stability)
(a) If both roots of the quadratic equation

$$
\begin{equation*}
\lambda^{2}-a_{1} \lambda-a_{2}=0 \tag{3}
\end{equation*}
$$

lie in the open unit disk $|\lambda|<1$, then the equilibrium point $\overline{\mathrm{X}}$ of Eq.(2) is locally asymptotically stable.
(b) If at least of the roots of Eq.(3) has absolute value greater that one then the equilibrium $\overline{\mathrm{X}}$ of Eq.(2) is unstable.
Theorem B [14]: Assume that $a_{1}, a_{2} \in R$. Then

$$
\left|\mathrm{a}_{1}\right|+\left|\mathrm{a}_{2}\right|<1
$$

is a sufficient condition for the locally stability of Eq.(3).
Theorem C [13]: Let $[a, b]$ be an interval of real numbers and assume that $\mathcal{G}:[a, b] \rightarrow[a, b]$ is a continuous function satisfying the following properties:
(a) $g(x, y)$ is non-decreasing in $x \in[a, b]$ for each $y \in[a, b]$, and $g(x, y)$ is nonincreasing in $y \in[a, b]$ for each $x \in[a, b]$.
(b) If $(n, N) \in[a, b] \times[a, b]$ is a solution of the system

$$
g(m, M)=m, \text { and } g(M, m)=M
$$

then $m=M$. Then Eq.(2) has a unique equilibrium $\bar{x} \in[a, b]$ and every solution of Eq.(2) converges to $\overline{\mathrm{X}}$.

## II. Dynamics of Solutions of Eq.(1)

In this study we consider the following cases:

### 2.1 Case $1: l=1, k=0$ and $q=0$

In this case Eq.(1) takes the form

$$
\begin{equation*}
\mathrm{x}_{\mathrm{n}+1}=\alpha \mathrm{x}_{\mathrm{n}-1}+\frac{\mathrm{b}}{1+\mathrm{x}_{\mathrm{n}}^{p}}, \quad \mathrm{n}=0,1, \ldots \tag{4}
\end{equation*}
$$

The equilibrium points of Eq.(4) are given by the relation

$$
\overline{\mathrm{x}}=\mathrm{a} \overline{\mathrm{x}}+\frac{\mathrm{b}}{1+\overline{\mathrm{x}}^{\mathrm{p}}}
$$

If $a<1$ then the unique positive equilibrium point of Eq.(4) is

$$
\overline{\mathrm{x}}+\overline{\mathrm{x}}^{\mathrm{p}+1}=\frac{\mathrm{b}}{1-\mathrm{a}}
$$

Let $f:(0, \infty)^{2} \rightarrow(0, \infty)$ be a function defined by

$$
f(u, v)=a v+\frac{b}{1+u^{p}}
$$

Therefore

$$
\frac{\partial f(u, v)}{\partial u}=-\frac{b p v^{p-1}}{\left(1+v^{p}\right)^{2}} \text { and } \frac{\partial f(u, v)}{\partial v}=a
$$

Set

$$
p_{1}=-\frac{p}{b} \bar{x}^{p+1}(1-a)^{2} \text { and } p_{2}=a .
$$

Then the linearized equation of Eq.(4) about $\overline{\mathrm{X}}$ is

$$
\mathrm{y}_{\mathrm{n}+1}+\frac{p}{b} \overline{\mathrm{x}}^{\mathrm{p}+1}(1-\mathrm{a})^{2} \mathrm{y}_{\mathrm{n}}-a \mathrm{y}_{\mathrm{n}-1}=0
$$

Theorem 1 Assume that $\mathfrak{a}<1$ and $p>1$. Then the following statements are true
(i) If

$$
\begin{equation*}
b>\frac{p}{(p-1)^{\frac{1}{p}}}\left(\frac{1-a}{p-1}\right) \tag{5}
\end{equation*}
$$

then the equilibrium point of Eq.(4) is locally asymptotically stable.
(ii) If

$$
\begin{equation*}
b<\frac{p}{(p-1)^{\frac{1}{p}}}\left(\frac{1-a}{p-1}\right) \tag{6}
\end{equation*}
$$

then the equilibrium point of Eq.(4) is unstable, in fact is a saddle point.
(iii) If

$$
\begin{equation*}
b=\frac{p}{(p-1)^{\frac{1}{p}}}\left(\frac{1-a}{p-1}\right) \tag{7}
\end{equation*}
$$

then the equilibrium point of Eq.(4) is a nonhyperbolic point.
Proof. (i) By Theorem A we get

$$
\left|p_{1}\right|+\left|p_{2}\right|=a+\frac{b p \bar{x}^{p-1}}{\left(1+\bar{x}^{p}\right)^{2}}<1 \Leftrightarrow a+\frac{p}{b} \bar{x}^{p+1}(1-a)<1 \Leftrightarrow \bar{x}<\left(\frac{b}{p(1-a)}\right)^{\frac{1}{p+1}}
$$

Let $g(x)=x(1-a)+x^{p+1}(1-a)-b$. Some simple calculations, using condition (5), show that
$g\left(\left(\frac{b}{p(1-a)}\right)^{\frac{1}{p+1}}\right)=\left(\frac{b}{p(1-a)}\right)^{\frac{1}{p+1}}(1-a)+\frac{b}{p(1-a)}(1-a)-b<0$
$\Leftrightarrow\left(\frac{b}{p}\right)^{\frac{1}{p+1}}(1-a)^{\frac{p}{p+1}}+\frac{b}{p}<b \Leftrightarrow b \geq \frac{p}{(p-1)^{\frac{1}{p}}}\left(\frac{1-a}{p-1}\right)$.
Then since $\lim _{x \rightarrow \infty} g(x)=\infty, \bar{x}^{p+1}<\frac{b}{p(1-a)}$. (ii) The condition $p_{1}^{2}+4 p_{2}>0$ of Theorem $A$ is always satisfied and so $\overline{\mathrm{X}}$ is unstable if $\overline{\mathrm{X}}^{\mathrm{p}+1}<\frac{\mathrm{b}}{\mathrm{p}(1-\mathrm{a})}$.
By condition (6), we have

$$
g\left(\left(\frac{b}{p(1-a)}\right)^{\frac{1}{p+1}}\right)=\left(\frac{b}{p(1-a)}\right)^{\frac{1}{p+1}}(1-a)+\frac{b}{p(1-a)}(1-a)-b>0
$$

Then since $g(0)<0, \overline{\mathrm{x}}^{\mathrm{p}+1}<\frac{\mathrm{b}}{\mathrm{p}(1-\mathrm{a})}$. (iii) The condition $\left|p_{1}\right| \neq 1-p_{2} \mid$ is equivalent to $\overline{\mathrm{x}}^{\mathrm{p}+1}=\frac{\mathrm{b}}{\mathrm{p}(1-a)}$. Similarly by condition (7), we have $g\left(\left(\frac{b}{p(1-a)}\right)^{\frac{1}{p+1}}\right)=0 . \quad$ Then $\overline{\mathrm{x}}^{\mathrm{p}+1}=\frac{\mathrm{b}}{p(1-\mathrm{a})}$. Then the proof is completed.
Theorem 2 If $\mathrm{a}<1$ then Eq.(4) is bounded and persists.
Proof. Let $\left\{\mathrm{X}_{\mathrm{n}}\right\}_{\mathrm{n}=-1}^{\infty}$ be a solution of Eq.(4) it follows from Eq.(4) that

$$
\mathrm{x}_{\mathrm{n}+1}=\mathrm{ax} \mathrm{n}-1+\frac{\mathrm{b}}{1+\mathrm{x}_{\mathrm{n}}^{\mathrm{p}}}<\mathrm{ax}_{\mathrm{n}-1}+\mathrm{b} .
$$

Then

$$
\lim _{\mathrm{n} \rightarrow \infty} \sup \mathrm{x}_{\mathrm{n}} \leq \frac{\mathrm{b}}{1-\mathrm{a}}=M .
$$

Then $\left\{\mathrm{x}_{\mathrm{n}}\right\}_{\mathrm{n}=-1}^{\infty}$ is bounded from above. From Eq.(4)
$\mathrm{x}_{\mathrm{n}+1}=a \mathrm{x}_{\mathrm{n}-1}+\frac{\mathrm{b}}{1+\mathrm{x}_{\mathrm{n}}^{p}}>\frac{\mathrm{b}}{1+\mathrm{x}_{\mathrm{n}}^{\mathrm{p}}} \geq \frac{\mathrm{b}}{1+\left(\frac{\mathrm{b}}{1-\mathrm{a}}\right)^{p}}=\mathrm{m}$.
Then $\left\{x_{n}\right\}$ is bounded from blow too. Then the result is followed.

Theorem 3 If $\mathrm{a}>1$ then $\operatorname{Eq}(4)$ has unbounded solutions.
Proof. Let $\left\{X_{n}\right\}$ be a solution of Eq.(4). We obtain from Eq.(4) that

$$
x_{n+1}=a x_{n-1}+\frac{b}{1+x_{n-1}^{p}}>a x_{n-1}
$$

that is

$$
x_{n}>a x_{n-1}>a^{2} x_{n-1}>\cdots>a^{n} x_{0}
$$

It follows that

$$
\lim _{n \rightarrow \infty} x_{n}=\infty
$$

Then the proof is completed.
Example 1 Figure (1) shows that Eq.(4) has an unbounded solution whenever $x_{-1}=0.8, x_{0}=3, a=3, b=0.5$ and $p=3$


Figure (1)
Theorem 4 If a < 1 then the positive equilibrium point $\overline{\mathrm{X}}$ is a global attractor of Eq.(4).
Proof. We can easily see that the function

$$
g(u, v)=a v+\frac{b}{1+u^{p}}
$$

is increasing in $V$ and decreasing in $U$. Suppose that $(m, M)$ is a solution of the system

$$
M=g(M, m), \text { and } m=g(m, M)
$$

Then from Eq.(4) we can see that
$M=a M+\frac{b}{1+m^{p}}, \quad m=a m+\frac{b}{1+M^{p}}$,
or

$$
1-a=\frac{b}{M\left(1+m^{p}\right)} \quad \text { and } \quad 1-a=\frac{b}{m\left(1+M^{P}\right)}
$$

Thus

$$
m+m M^{p}=M+M m^{p} .
$$

So

$$
\mathrm{m}=\mathrm{M} .
$$

It follows by Theorem C that $\overline{\mathrm{X}}$ is a global attractor of Eq.(4) and then the proof is complete.

Example 2 Figure (2) shows the global attractivity of the positive equilibrium point $\overline{\mathrm{X}}$ of Eq.(4) whenever $\mathrm{x}_{-1}=0.8, \mathrm{x}_{0}=3, a=3, b=0.5$ and $p=3$


Theorem 5 Let $0<p<1$ and $a<1$. Then every positive solution of Eq.(4) converges to $\overline{\mathrm{X}}$.
Proof. It was shown by Theorem 2 that every solution $\left\{X_{n}\right\}_{n=-1}^{\infty}$ of Eq.(4) is bounded. Thus it follows that $\lim _{n \rightarrow \infty} \inf x_{n}=\ell$, and $\lim \sup x_{n}=L$.

As the sake of contradiction assume that $1<\mathrm{L}$ : We see from Eq.(4) that

$$
\mathrm{a} \ell+\frac{\mathrm{b}}{1+\mathrm{L}^{\mathrm{p}}} \leq \ell<\mathrm{L} \leq \mathrm{aL}+\frac{\mathrm{b}}{1+\ell^{\mathrm{p}}},
$$

which implies that

$$
\frac{\mathrm{b}}{1-\mathrm{a}}-1 \leq \ell \mathrm{L}^{\mathrm{p}}<\mathrm{L} \ell^{\mathrm{p}} \leq \frac{\mathrm{b}}{1-\mathrm{a}}-\mathrm{L},
$$

i.e.

$$
\mathrm{L}-\ell \leq \mathrm{O}(\mathrm{~L} \quad 1)<0
$$

which gives a contradiction. Hence the result follows.
Theorem 6 Let $\left\{x_{n}\right\}_{n=-1}^{\infty}$ be a positive solution of Eq.(4) which consists of at least two semi-cycles. Then $\left\{x_{n}\right\}_{n=-1}^{\infty}$ is oscillatory.
Proof. It suffices to consider the following two cases:
(I) Suppose $\mathrm{X}_{\mathrm{N}-1}<\overline{\mathrm{X}}<\mathrm{X}_{\mathrm{N}}$. Then

$$
\mathrm{x}_{\mathrm{N}+1}=\mathrm{ax}_{\mathrm{N}-1}+\frac{\mathrm{b}}{1+\mathrm{x}_{\mathrm{N}}^{p}}<\mathrm{a} \overline{\mathrm{x}}+\frac{\mathrm{b}}{1+\overline{\mathrm{x}}^{\mathrm{p}}}=\overline{\mathrm{x}},
$$

and

$$
x_{N+2}=a x_{N}+\frac{b}{1+x_{N+1}^{p}}>a \bar{x}+\frac{b}{1+\bar{x}^{p}}=\overline{\mathrm{x}} .
$$

(II) Suppose $\mathrm{X}_{\mathrm{N}}<\overline{\mathrm{X}}<\mathrm{X}_{\mathrm{N}-1}$. Then

$$
\begin{gathered}
x_{N+1}=a x_{N-1}+\frac{b}{1+x_{N}^{p}}>a \bar{x}+\frac{b}{1+\bar{x}^{p}}=\overline{\mathrm{x}} \text { and } \\
x_{N+2}=a x_{N}+\frac{b}{1+x_{N+1}^{p}}<a \bar{x}+\frac{b}{1+\bar{x}^{p}}=\overline{\mathrm{x}} .
\end{gathered}
$$

The proof is completed.

### 2.2 Case $2: l=0, k=1$ and $q=1$

In this case Eq.(1) takes the form

$$
\begin{equation*}
\mathrm{x}_{\mathrm{n}+1}=\alpha \mathrm{x}_{\mathrm{n}}+\frac{\mathrm{b} \mathrm{x}_{\mathrm{n}}}{1+\mathrm{x}_{\mathrm{n}-1}^{p}}, \quad \mathrm{n}=0,1, \ldots \tag{8}
\end{equation*}
$$

The equilibrium points of Eq.(8) are given by the condition

$$
\overline{\mathrm{x}}=\alpha \overline{\mathrm{x}}+\frac{\beta \overline{\mathrm{x}}}{1+\overline{\mathrm{x}}^{\mathrm{p}}}
$$

If $\beta+\alpha>1$ and $\alpha<1$ then Eq.(8) has the equilibrium points $\overline{\mathrm{x}}=0$ and $\overline{\mathrm{x}}=\sqrt[p]{\frac{\beta}{1-\alpha}-1}$. Now let $g:(0, \infty)^{2} \rightarrow(0, \infty)$ be a function defined by

$$
g(u, v)=\alpha u+\frac{\beta u}{1+v^{p}} .
$$

Therefore

$$
\frac{\partial g(u, v)}{\partial u}=\alpha+\frac{\beta}{1+v^{p}} \text { and } \frac{\partial g(u, v)}{\partial v}=-\frac{\beta p u v^{p-1}}{\left(1+v^{p}\right)^{2}}
$$

Then we see that

$$
\frac{\partial g(\overline{\mathrm{x}}, \overline{\mathrm{x}})}{\partial \mathrm{u}}=\alpha+\frac{\beta}{1+\overline{\mathrm{x}}^{p}}=\mathrm{a}_{1} \text { and } \frac{\partial g(\overline{\mathrm{x}}, \overline{\mathrm{x}})}{\partial \mathrm{v}}=-\frac{\beta p \overline{\mathrm{x}}^{p}}{\left(1+\overline{\mathrm{x}}^{p}\right)^{2}}=\mathrm{a}_{2}
$$

Then the linearized equation of Eq.(8) about $\overline{\mathrm{X}}$ is

$$
\mathrm{z}_{\mathrm{n}+1}-\left(\alpha+\frac{\beta}{1+\overline{\mathrm{x}}^{p}}\right) \mathrm{z}_{\mathrm{n}}+\left(\frac{\beta p \overline{\mathrm{x}}^{p}}{\left(1+\overline{\mathrm{x}}^{p}\right)^{2}}\right) \mathrm{z}_{\mathrm{n}-1}=0
$$

Theorem 7 The following statements are true:
(i) The equilibrium point $\overline{\mathrm{X}}=\mathrm{O}$ of Eq.(8) is locally asymptotically stable if $\alpha+\beta<1$.
(ii) The equilibrium point $\overline{\mathrm{X}}=0$ of Eq.(8) is stable if $\alpha+\beta=1$.
(iii) The equilibrium point $\overline{\mathrm{X}}=\mathrm{O}$ of Eq.(8) is unstable if $\alpha+\beta>1$.

Proof. Since the linearized equation of Eq.(8) about the equilibrium point $\overline{\mathrm{X}}=\mathrm{O}$ can be written in the following form

$$
\mathrm{z}_{\mathrm{n}+1}=(\alpha+\beta) \mathrm{z}_{\mathrm{n}}, \quad \mathrm{n}=0,1, \ldots
$$

so the characteristic equation of Eq.(8) about $\overline{\mathrm{x}}=\mathrm{O}$ is

$$
\lambda^{2}-(\alpha+\beta) \lambda=0
$$

Then the proof of (i) and (ii) follows promptly from Theorem A. (iii) Let $\mathrm{O}>0$ and let $\left\{\mathrm{X}_{\mathrm{n}}\right\}_{\mathrm{n}=-1}^{\infty}$ be a solution of Eq.(8) such that

$$
\begin{equation*}
\left|\mathrm{x}_{-1}\right|+\left|\mathrm{x}_{0}\right|<\delta \tag{9}
\end{equation*}
$$

It suffices to show that $\left|\mathrm{X}_{1}\right|<$ O.
Now

$$
0<\left|\mathrm{x}_{1}\right|=\left|\alpha \mathrm{x}_{0}+\frac{\beta \mathrm{x}_{0}}{1+\mathrm{x}_{-1}^{p}}\right|<\left|(\alpha+\beta) \mathrm{x}_{0}\right|=\left|\mathrm{x}_{0}\right|<\delta
$$

Chose $\delta=\mathbf{O}=$ then $\left|\mathrm{x}_{1}\right|<\mathbf{O}$ whatever (9) holds. At that point the outcome follows by induction.
Theorem 8 Assume that $\alpha+\beta \leq 1$. Then the zero equilibrium point of Eq.(8) is globally asymptotically stable.
Proof. We know by Theorem 7 ((i) and (ii)) that $\overline{\mathrm{X}}=\mathrm{O}$ is locally asymptotically stable equilibrium point of Eq.(8) if +1 , and so it suffices to show that $\bar{X}=0$ is global attractor of Eq.(8) as follows

$$
0 \leq \mathrm{x}_{\mathrm{n}+1}=\alpha \mathrm{x}_{\mathrm{n}}+\frac{\beta \mathrm{x}_{\mathrm{n}}}{1+\mathrm{x}_{\mathrm{n}-1}^{p}} \leq \mathrm{x}_{\mathrm{n}}
$$

Then the sequence $\left\{X_{n}\right\}$ is decreasing, and bounded from below by zero and since there is a unique equilibrium point $\overline{\mathrm{X}}=0$ in this case, then $\lim \mathrm{x}_{\mathrm{n}}=0$. Then the proof is completed.

Example 3 Figure (3) shows the global attractivity of the equilibrium point $\overline{\mathrm{X}}$ of Eq.(8) whenever $\mathrm{x}_{-1}=0.87, \mathrm{x}_{0}=0.9539, \alpha=0.2, \beta=0.5$ and $p=0.442$.


Lemma 9 Assume that $\alpha+\beta \leq 1$, then every solution of Eq.(8) is bounded.
Proof. Let $\left\{x_{n}\right\}_{n=-1}^{\infty}$ be a solution of Eq.(8). It follows from Eq.(8) that

$$
\mathrm{x}_{\mathrm{n}+1}=\alpha \mathrm{x}_{\mathrm{n}}+\frac{\beta \mathrm{x}_{\mathrm{n}}}{1+\mathrm{x}_{\mathrm{n}-1}^{p}} \leq(\alpha+\beta) \mathrm{x}_{\mathrm{n}}
$$

Then in view of the proof of Theorem 8, we have

$$
\mathrm{x}_{1} \leq \mathrm{x}_{0}
$$

Similarly it is easy to see that

$$
\cdots \leq \mathrm{x}_{\mathrm{n}} \leq \cdots \leq \mathrm{x}_{2} \leq \mathrm{x}_{1} \leq \mathrm{x}_{0}
$$

so every solution of Eq.(8) is bounded from above.
Lemma 10 If $\alpha>1$, then the Eq.(8) has unbounded solutions.
Proof. Consider $\left\{X_{n}\right\}_{n=-1}^{\infty}$ be a solution of Eq.(8), then it follows that

$$
\mathrm{x}_{\mathrm{n}+1}>\alpha \mathrm{x}_{\mathrm{n}}
$$

That is

$$
\begin{gathered}
\mathrm{x}_{\mathrm{n}}>\alpha \mathrm{x}_{\mathrm{n}-1}>\cdots>\alpha^{\mathrm{n}} \mathrm{x}_{0} \\
\lim _{\mathrm{n} \rightarrow \infty} \mathrm{x}_{\mathrm{n}}=\infty
\end{gathered}
$$

Then, the proof is completed.
Example 4 Figure (4) shows that Eq.(8) has an unbounded solution with the values $\mathrm{x}_{-1}=1.537, \mathrm{x}_{0}=3.019, \alpha=5, \beta=0.9$, and $p=2$.


Figure (4)
Theorem 11 If $\alpha<1<1$ then the positive equilibrium point x is a global attractor of Eq.(8).
Proof. We can easily see that the function

$$
g(u, v)=\alpha u+\frac{\beta u}{1+v^{p}}
$$

is increasing in $U$ and decreasing in V.Suppose that $(m, M)$ is a solution of the system

$$
M=g(M, m), \text { and } m=g(m, M)
$$

Then from Eq.(8) we can see that
$\mathrm{M}=\alpha \mathrm{M}+\frac{\beta \mathrm{M}}{1+\mathrm{m}^{\mathrm{p}}}$, and $\mathrm{m}=\alpha \mathrm{m}+\frac{\beta \mathrm{m}}{1+\mathrm{M}^{\mathrm{p}}}$,
or

$$
1-\alpha=\frac{\beta}{1+m^{p}} \text { and } 1-\alpha=\frac{\beta}{1+M^{P}}
$$

We obtain from this

$$
\mathrm{m}=\mathrm{M}
$$

It follows by Theorem $C$ that $\bar{X}$ is a global attractor of Eq.(4) and then the proof is complete.
Example 5 Figure (5) shows the global attractivity of the equilibrium point $\overline{\mathrm{x}}$ of Eq.(8) whenever $x_{-1}=6.012, x_{0}=2.34, \alpha=0.5, \beta=9$, and $p=2$.


Figure (5)
Theorem 12 Let $\left\{x_{n}\right\}_{n=-1}^{\infty}$ be a nontrivial solution of Eq.(8). At that point the accompanying articulations are valid: (i) Every semicycle, with the exception of maybe for the first, has no less than two terms. (ii) The extreme in each semicycle occur at either the first term or the second. Besides after the main, the remaining terms in a positive semicycle are strictly decreasing and in a negative semicycle are strictly increasing.
Proof. We present the proofs for positive semicycles only. The proof for negative semicycles are similar and will be omitted. (i) Assume that for some $n \geq 0$,

$$
\mathrm{x}_{\mathrm{n}-1}<\overline{\mathrm{x}} \text { and } \mathrm{x}_{\mathrm{n}} \geq \overline{\mathrm{x}}
$$

Then

$$
\mathrm{x}_{\mathrm{n}+1}=\alpha \mathrm{x}_{\mathrm{n}}+\frac{\beta \mathrm{x}_{\mathrm{n}}}{1+\mathrm{x}_{\mathrm{n}-1}^{\mathrm{p}}}>\alpha \overline{\mathrm{x}}+\frac{\beta \overline{\mathrm{x}}}{1+\overline{\mathrm{x}}^{\mathrm{p}}}=\overline{\mathrm{x}}
$$

(ii) Assume that for some $n \geq 0$, the first two terms in a positive semicycle are $X_{n}$ and $X_{n+1}$. Then

$$
\mathrm{x}_{\mathrm{n}} \geq \overline{\mathrm{x}}, \quad \mathrm{x}_{\mathrm{n}+1}>\overline{\mathrm{x}}
$$

and

$$
\frac{\mathrm{x}_{\mathrm{n}+2}}{\mathrm{x}_{\mathrm{n}+1}}=\frac{1}{\mathrm{x}_{\mathrm{n}+1}}\left[\alpha \mathrm{x}_{\mathrm{n}+1}+\frac{\beta \mathrm{x}_{\mathrm{n}+1}}{1+\mathrm{x}_{\mathrm{n}}^{p}}\right]=\alpha+\frac{\beta}{1+\mathrm{x}_{\mathrm{n}}^{p}}<\alpha+\frac{\beta}{1+\overline{\mathrm{x}}^{p}}=1 .:
$$

Thus the proof is complete.

## References

[1]. A. Amleh, E. Grove, G. Ladas and D. Georgiou, "On the Recursive Sequence $\mathrm{X}_{\mathrm{n}+1}=\alpha+\mathrm{X}_{\mathrm{n}-1} / \mathrm{X}_{\mathrm{n}}$. " Journal of Mathematical Analysis and Applications 233 (1999) 790-798.
[2]. M. Aloqeili, Dynamics of a rational difference equation, Appl. Math. Comp., 176 (2) (2006), 768774.
[3]. E. Camouzis and G. Ladas. Dynamics of third-order rational difference equations with open problems and conjectures. Chapman and Hall/CRC, 2007.
[4]. C. Cinar, R. Karatas and I. Yalcinkaya, On solutions of the difference equation $X_{n+1}=\frac{X_{n-3}}{-1+X_{n} X_{n-1} X_{n-2} X_{n-3}}$,
Mathematica Bohemica, 132 (3) (2007), 257-261.
[5]. R. Devault; C. Kent \& W. Kosmalac;"On the Recursive Sequence $X_{n+1}=p+\frac{x_{n-k}}{x_{n}}$, "Journal of Difference Equations and Applications, 2003 Vol. 9 (8), pp. 721-730.
[6]. E. M. Elabbasy, H. El-Metwally and E. M. Elsayed, Global attractivity and periodic character of a fractional difference equation of order three, Yokohama Math. J., 53 (2007), 89-100.
[7]. H. El-Metwally and E. Elsayed, "Stability and solutions for rational recursive sequence of order three." Journal of Computational Analysis and Applications 17 (2014) 305-315.
[8]. H. El-Metwally, E. M. Elabbasy and M. AL-Ka, On the Dynamics of some Recursive Sequences, Journal of Fractional Calculus and Applications, Vol. 10 (2) July (2019) 176-190.
[9]. H. El-Metwally, E. M. Elabbasy and A. A. Eshtiba, Qualitative Properties of some Higher order Difference Equations, Journal of Fractional Calculus and Applications, Vol. 9 (2) July (2018) 34-48.
[10]. H. El-Metwally, E. A. Grove, G. Ladas, R. Levins and M. Radin, On the difference equation $X_{n+1}=\alpha+\beta X_{n-1} e^{-X_{n}}$, Nonlinear Analysis: Theory, Methods \& Applications, 47 (7) (2003), 46234634.
[11]. E. Grove and G. Ladas. Periodicities in nonlinear difference equations. Chapman and Hall/CRC, 2004
[12]. Kenneth S. Berenhaut \& Stevo stevi $\cdot \mathrm{c}$," The behaviour of the positive solutions of the difference equation $\mathrm{x}_{\mathrm{n}+1}=p+\frac{\mathrm{x}_{\mathrm{n}-\mathrm{k}}}{\mathrm{x}_{\mathrm{n}}}$, "Journal of Difference Equations and Applications, Vol. 12, No. 9, September 2006.
[13]. V. L. Kocic and G. Ladas, Global Behavior of Nonlinear Difference Equations of Higher Order with Applications, Kluwer Academic Publishers, Dordrecht, 1993.
[14]. M. Kulenovic and G. Ladas. Dynamics of second order rational difference equations: with open problems and conjectures. Chapman and Hall/CRC, 2001.
[15]. C. J. Schinas, G. Papaschinopoulos, and G. Stefanidou, "On the Recursive Sequence $X_{n+1}=A+\frac{X_{n-1}^{p}}{X_{n}^{p}}$, " Journal of Advances in Difference Equations, vol. 2009, Article ID 327649, 11 pages, doi: 10.1155/2009/327649.
[16]. I. Yalcinkaya, On the difference equation $X_{n+1}=\alpha+\frac{X_{n-m}}{X_{n}^{k}}$, Discrete Dynamics in Nature and Society, Vol. 2008, Article ID 805460, 8 pages, doi: 10.1155/2008 / 805460.
[17]. I. Yalcinkaya, H. El-Metwally and A. Hamza, Periodic solutions for some systems of difference equations, Konuralp Journal of Mathematics, 8 (1) (2020) 114-121.
[18]. $X$. Yang, W. Su, B. Chen, G. M. Megson and D. J. Evans, On the recursive sequence $X_{n+1}=\frac{a x_{n-1}+b x_{n-2}}{c+d x_{n-1} X_{n-2}}$, Appl. Math. Comp., 162 (2005), 14851497.

Hamdy El-Metwally, et. al. "Global Studies of the Solutions of some Difference Equations." IOSR Journal of Mathematics (IOSR-JM), 16(6), (2020): pp. 55-65.

